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2

§ 2.1

2.1.1

2

FTEXT I 2
2

A B
x1 x2

x2 − x1

x1 > x2

B A
x2 x1

x1 − x2

x2 < x1

2 A(x1) B(x2) AB

AB = x2 − x1

2

m n AB P

A

B
P

m©
n©AP : PB = m : n

P AB m : n (inte-

rior devision) P
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m n AB Q

A

Q
B

m©
n©

Q

B

A

1) m > n

2) m < n

m©
n©

AQ : QB = m : n

Q AB m : n (ex-

terior devision) Q

Q

1) m > n AB B

2) m < n AB A

2 A(x1) B(x2) AB m : n P (x)

AP : PB = m : n

nAP = mPB · · · · · · · · · · · · · · · · · · · · · · 1©

A BP
x1 x2x

n©m©

1) x1 > x2

B AP
x2 x1x

m©n©

2) x2 < x1

1) x1 < x2 x1 < x < x2

AP = x − x1 PB = x2 − x

2) x1 > x2 x1 > x > x2

AP = x1 − x PB = x − x2

1) 2) 1©
n(x − x1) = m(x2 − x)

⇔ (m + n)x = nx1 + mx2

∴ x =
nx1 + mx2

m + n

2 A(x1) B(x2) AB m : n P (x)

x =
nx1 + mx2

m + n

nx1 +mx2

xx1 x2

m© n©
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P m = n x =
x1 + x2

2

� �
2 A(x1) B(x2) AB

m : n Q (x)

x =
−nx1 + mx2

m − n

x1 < x2� �

AQ : QB = m : n

nAQ = mQB · · · · · · · · · · · · · · · · · · · · · · 1©

�

A BP
x1 x2x

n©m©

1) x1 > x2

B AP
x2 x1x

m©n©

2) x2 < x1

1) m > n x1 < x1 < x

AQ = x − x1 QB = x − x2

2) m < n x > x1 > x2

AQ = x1 − x QB = x2 − x

1) 2) 1©

n(x − x1) = m(x − x2)

⇔ (m − n)x = −nx1 + mx2

∴ x =
−nx1 + mx2

m − n

�

x1 > x2

2 A(x1) B(x2) AB m : n Q (x)

x =
−nx1 + mx2

m − n

−nx1 + mx2

m − n
−1 nx1 − mx2

−m + n

m n

– www.ftext.org –
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2.1.2

2

2 A(x1, y1) B(x2, y2) AB

C

x1 x2

y2

y1
A

B

C

x

y

O

AC = x2 − x1 , BC = y2 − y1

AB2 = AC2 + BC2

= (x2 − x1)2 + (y2 − y1)2

AB =
√

(x2 − x1)2 + (y2 − y1)2

2

2 A(x1, y1) B(x2, y2)

AB =
√

(x2 − x1)2 + (y2 − y1)2

2� �
2 A, B 2 A, B

(1) A(1, 3) B(5, 6) (2) A(−3,−5) B(2, 3) (3) A(6,−1) B(−2, 4)
� �

(1) AB =
√

(5 − 1)2 + (6 − 3)2 = 5
(2) AB =

√{2 − (−3)}2 + {3 − (−5)}2 = √89
(3) AB =

√
(−2 − 6)2 + {4 − (−1)}2 = √89

� �
�ABC BC M

M

A

B C

AB2 + AC2 = 2(AM2 +MB2)

� �

A B C M A(a1, a2)

B(−c, 0) C(c, 0) M(0, 0)

2 �

M

A(a1, a2)

−c
B

c
C x

y

AB2 + AC2

– www.ftext.org –



2.1 101

=
( √

(a1 + c)2 + a2
2
)2
+

( √
(a1 − c)2 + a2

2
)2

= a1
2 + 2a1c + c2 + a2

2 + a1
2 − 2a1c + c2 + a2

2

= 2(a1
2 + a2

2 + c2)

2(AM2 +MB2)

= 2{
( √

a1
2 + a2

2
)2
+

(√
c2

)2}
= 2(a1

2 + a2
2 + c2)

AB2 + AC2 = 2(AM2 +MB2) �

(coordinate geometry) *1

2 A(x1, y1) B(x2, y2) AB m : n P (x, y)

P′ A′B′ m : n

x1

y1
A

x2

y2
B

x

y
P

A′ B′P′

m©

n©

m n
x

y

O

x =
nx1 + mx2

m + n

y

y =
ny1 + my2

m + n

2 A(x1, y1) B(x2, y2) AB m : n P

(x, y)

x =
nx1 + mx2

m + n
, y =

ny1 + my2

m + n

P m = n x =
x1 + x2

2
y =

y1 + y2

2

*1 (analytic geometry)

– www.ftext.org –



102 2

� �
A, B AB 3 : 1 P AB

2 : 3 Q AB M

(1) A(2, 5) B(3, 2) (2) A(−2, 3) B(3,−1) (3) A(0, 0) B(3,−4)
� �

(1) P
(

1 · 2 + 3 · 3
3 + 1

, 1 · 5 + 3 · 2
3 + 1

)
�

P x

A B
P

(2) (3)

3© 1©
3 · 31 · 2

P y

A B
P

(5) (2)

3© 1©
3 · 21 · 5

Q
(

3 · 2 + 2 · 3
2 + 3

, 3 · 5 + 2 · 2
2 + 3

)

M
(

2 + 3
2

, 5 + 2
2

)

P
( 11

4
,

11
4

)
, Q

( 12
5
,

19
5

)
, M

( 5
2
,

7
2

)

(2) P
( 1 · (−2) + 3 · 3

3 + 1
,

1 · 3 + 3 · (−1)
3 + 1

)
� P x

A B
P

(−2) (3)

3© 1©
3 · 31 · (−2)

P y

A B
P

(3) (−1)

3© 1©
3 · (−1)1 · 3

Q
( 3 · (−2) + 2 · 3

2 + 3
,

3 · 3 + 2 · (−1)
2 + 3

)

M
( −2 + 3

2
,

3 + (−1)
2

)

P
( 7

4
, 0

)
, Q

(
0, 7

5

)
, M

( 1
2
, 1

)

(3) P
( 9

4
,−3

)
, Q

( 6
5
, − 8

5

)
, M

( 3
2
,−2

)
� P

(
1 · 0 + 3 · 3

3 + 1
,

1 · 0 + 3 · (−4)
3 + 1

)

Q
(

3 · 0 + 2 · 3
2 + 3

,
3 · 0 + 2 · (−4)

2 + 3

)

M
(

0 + 3
2

,
0 + (−4)

2

)

� �
2 A(x1, y1) B(x2, y2)

AB m : n Q (x, y)

x =
−nx1 + mx2

m − n
, y =

−ny1 + my2

m − n

� �

P′ A′B′ m : n

�

x1

y1
A

x2

y2
Q

x

y
B

A′ Q′B′

m© n©

m

n x

y

O

x =
−nx1 + mx2

m − n

y

y =
−ny1 + my2

m − n
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2 A(x1, y1) B(x2, y2) AB m : n Q

(x, y)

x =
−nx1 + mx2

m − n
, y =

−ny1 + my2

m − n

� �
A, B AB 3 : 1 P 2 : 3

Q 4 : 3 R

(1) A(2, 5) B(3, 2) (2) A(−2, 3) B(3,−1)
� �

• P AB 3 : (−1) � 1 1 (−1)

• Q AB (−2) : 3 � 2 2 (−1)

• R AB 4 : (−3) � 3 3 (−1)

(1) P
( (−1) · 2 + 3 · 3

3 + (−1)
,

(−1) · 5 + 3 · 2
3 + (−1)

)
�

P x

A B
P

(2) (3)

3© −1©
3 · 3(−1) · 2

P y

A B
P

(2) (5)

3© −1©
3 · 2(−1) · 5

Q
( 3 · 2 + (−2) · 3

(−2) + 3
,

3 · 5 + (−2) · 2
(−2) + 3

)

R
( (−3) · 2 + 4 · 3

4 + (−3)
,

(−3) · 5 + 4 · 2
4 + (−3)

)

P
( 7

2
,

1
2

)
, Q (0, 11), R (6,−7)

(2) P
( 11

2
,−3

)
, Q (−12, 11), R (18,−13) � P

( (−1) · (−2) + 3 · 3
3 + (−1)

,
(−1) · 3 + 3 · (−1)

3 + (−1)

)

Q
( 3 · (−2) + (−2) · 3

(−2) + 3
,

3 · 3 + (−2) · (−1)
(−2) + 3

)

R
( (−3) · (−2) + 4 · 3

4 + (−3)
,

(−3) · 3 + 4 · (−1)
4 + (−3)

)

3 1

|

|

|| ||

|||

|||

A

B C

G
2©

1©

(centroid, center of gravity)

2 : 1

– www.ftext.org –
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� �
A(x1, y1) B(x2, y2) C(x3, y3) G �ABC

(1) BC N N

(2) G AN 2 : 1 G
� �

(1) N BC
( x2 + x3

2
,

y2 + y3

2

)
�

(p.101)

(2) G
 x1 + 2 · x2+x3

2

2 + 1
,

y1 + 2 · y2+y3
2

2 + 1

 �
(p.101)

x y( x1 + x2 + x3

3
,

y1 + y2 + y3

3

)
G

3 A(x1, y1) B(x2, y2) C(x3, y3) �ABC G

G
( x1 + x2 + x3

3
,

y1 + y2 + y3

3

)

3
� �

(1) A(3, 2) B(−1, 4) C(−3,−5) �ABC G

(2) A(1, a) B(b, 2) C(3,−3) a, b
� �

(1) G(x, y)

x =
3 + (−1) + (−3)

3
= − 1

3

y =
2 + 4 + (−5)

3
=

1
3

(2) (0, 0)

(
1 + b + 3

3
,

a + 2 + (−3)
3

)
= (0, 0)

⇔
{

1 + b + 3 = 0
a + 2 + (−3) = 0 ∴ (a, b) = (1,−4).

– www.ftext.org –
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§ 2.2

2.2.1

1

A(−3, 1) 2 l

A(−3, 1)

2

1

2

x

y

O

l

y = 2x + n · · · · · · · · · · · · · · · · · · · · · · 1©

A

1 = 2 · (−3) + 1 · · · · · · · · · · · · · · · · · · · · · · 2©

1©- 2© n l

y − 1 = 2(x + 3)

1

(x1, y1) m

y − y1 = m(x − x1)

� �

(1) (3, 1) −3

(2) (−3, − 1) − 1
2

� �

(1) y − 1 = −3(x − 3) ⇔ y = −3x + 10

(2) y − (−1) = − 1
2
{x − (−3)} ⇔ y = − 1

2
x − 5

2

2

– www.ftext.org –
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A(−3, 1), B(2,−4) l A(−3, 1)

B(2,−4)

P(x, y)

x

y

OAB −4 − 1
2 − (−3)

= −1 (−3, 1)

l 1

(p.105)

y − 1 = −(x − (−3))

2

2 (x1, y1), (x2, y2)

y − y1 =
y2 − y1

x2 − x1
(x − x1)

x1 \= x2

x1 = x2 x = x1

� �
2

(1) (1, 2), (3, 4)

(2) (2, 1), (−1,−3)

(3) (5, 3), (−4, 3)
� �

(1) y − 2 = 4 − 2
3 − 1

(x − 1) ⇔ y = x + 1

(2) y − 1 = −3 − 1
−1 − 2

(x − 2) ⇔ y = 4
3

x + 2
3

(3) y − 3 = 0 ⇔ y = 3

1) y

m y n

y = mx + n ⇔ mx − y + n = 0

2) y

x (p, 0)

x = p ⇔ x − p = 0

1) 2) x y 1

ax + by + c = 0 (a \= 0 b \= 0)

– www.ftext.org –
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y = kx+1 k
k = 4 k = 2 k = 1

k = 1
2

k = 1
5

k = 0

k = −1
k = −2

(0, 1)

x

y

O

y 1

(0, 1)

(0, 1) y

y = kx + 1

� �
(1) y = 2x + k k

(2) y = kx − 3 k

(3) y − 3 = k(x + 2) k
� �

(1) 2 �
2

(2) (0,−3) y � y 0

(3) (−2, 3) y � x = 3 (−2, 3)

� �
k l : kx + x + y + 3k = 0

(1) k l A

(2) k l
� �

(1) k

kx + x + y + 3k = 0 ⇔ k(x + 3) + x + y = 0

k (x, y) x + 3 = 0

x + y = 0

(x, y) = (−3, 3) A(−3, 3)
(2) l y y = (−k − 1)x − 3k

l −k − 1 A

y −k − 1

(−3, 3) y

– www.ftext.org –
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2.2.2

2 y = m1 x + n1

y = m2 x + n2

y = m1 x

y = m2 x
x

y

O

2 y = m1x + n1, y = m2x + n2

2

y = m1x, y = m2x

x 1
y = m1 x

y = m2 x

A(1, m1)

B(1, m2)

H(1, 0)
x

y

O

∠AOH = 90◦ − ∠BOH = ∠OBH 2

�AOH �OBH

AH : HO = OH : HB ⇔ m1 : 1 = 1 : (−m2)

⇔ m1m2 = −1

2 y = m1x + n1, y = m2x + n2 m1 � 0, m2 � 0

⇔ m1 = m2

⇔ m1m2 = −1

m − 1
m

� �
(1) (−1, 2) y = 3

(2) (3, 2) y = 3x − 4

(3) (1,−2) x − 2y + 3 = 0
� �

(1) x = −1 �

(−1, 2)

y = 33

x = −1

−1 x

y

O

(2) 3 − 1
3

y − 2 = − 1
3

(x − 3) ⇔ y = − 1
3

x + 3 � 1
(p.105)

(3) x − 2y + 3 = 0 y = 1
2

x + 3
2

– www.ftext.org –
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1
2

−2

y − (−2) = −2(x − 1) ⇔ y = −2x

2.2.3

l A P A

l

P

||

||

1) AP l

2) AP l

� �
(1) l : x − 2y + 3 = 0 A(1,−2) P

(2) m : x = −2 A(1,−2) Q
� �

(1) P(s, t) AP � (p.101)

1

−2
A

l
P

x

y

O

(
s + 1

2
, t − 2

2

)
l

s + 1
2
− 2 · t − 2

2
+ 3 = 0

⇔ (s + 1) − 2(t − 2) + 6 = 0

⇔ s = 2t − 11 · · · · · · · · · · · · · · · · · · · · · · 1©

l y = 1
2

x + 3
2

l

1
2

AP
t − (−2)

s − 1
l AP � (p.108)

1
2
· t − (−2)

s − 1
= −1 ⇔ t + 2 = −2(s − 1)

⇔ t = −2s · · · · · · · · · 2©

1© 2© s = 2(−2s) − 11 ⇔ s = − 11
5

2© t = 22
5

P
(
− 11

5
,

22
5

)
(2) A Q y �

1

A(1,−2)

−2

m

−5

P

x

y

O

A m 3 AQ � Q(s,−2) AQ x
s + 1

2
−2

s + 1
2
= −2 ⇔ s = −5

6 Q(−5,−2)

– www.ftext.org –
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2.2.4

l ax + by + c = 0 1 A (x1, y1)

b \= 0 l − a
b

A l

y − y1 =
b
a

(x − x1) ⇔ − bx + ay + (bx1 − ay1) = 0 · · · · · · · · · · · · · · · · · · · · · · 1©

l 1© H

 ax + by + c = 0

−bx + ay + (bx1 − ay1) = 0

H
( −ac + b2x1 − aby1

a2 + b2 ,
−bc − abx1 + a2y1

a2 + b2

)

A, H h

h2 =

(
x1 − −ac + b2x1 − aby1

a2 + b2

)2

+

(
y1 − −bc − abx1 + a2y1

a2 + b2

)2

=
1

(a2 + b2)2

{
(a2x1 + b2x1 + ac − b2x1 + aby1)2 + (a2y1 + b2y1 + bc + abx1 − a2y1)2

}

=
1

(a2 + b2)2

{
a2(ax1 + c + by1)2 + b2(by1 + c + ax1)2

}

=
1

(a2 + b2)2 (a2 + b2)(ax1 + c + by1)2 =
(ax1 + by1 + c)2

a2 + b2

h =
ax1 + by1 + c√

a2 + b2
b = 0 *2

ax + by + c = 0 (x1, y1) h (x1, y1)

ax + by + c = 0

h
h =

ax1 + by1 + c√
a2 + b2

ax + by + c = 0

(x1, y1)

� �
l A l A

(1) l : 2x − y + 4 = 0 A(2,−1) (2) l : 3x − 4y − 2 = 0 A(0, 0)

(3) l : 3x − 4y − 2 = 0 A(−4,−4) (4) l : −3x + 2y + 1 = 0 A(2, 2)
� �

*2 FTEXT B
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(1)
2 · 2 − (−1) + 4√

22 + (−1)2
=

9√
5
=

9
√

5
5

(2)
3 · 0 − 4 · 0 − 2√

32 + (−4)2
=
− 2√

25
=

2
5

(3)
3 · (−4) − 4 · (−4) − 2√

32 + (−4)2
=

2√
25
=

2
5

(4)
− 3 · 2 + 2 · 2 + 1√

(−3)2 + 22
=
− 1√

13
=

√
13

13

� �
(1) l : 3x − 4y − k = 0 A(2, 1) 3 k

(2) l : 2kx + y − 2 = 0 A(2, 1) 1 k
� �

(1) l A
3 · 2 − 4 · 1 − k√

32 + 42 � (p.110)

3 · 2 − 4 · 1 − k√
32 + 42

= 3⇔ 2 − k
5

= 3

⇔ 2 − k = 15

2 − k = ±15 k = 17,−13 � 2 − k = 15 k = −13
2 − k = −15 k = 17(2) l A

(2k) · 2 + 1 − 2√
(2k)2 + 12

(2k) · 2 + 1 − 2√
(2k)2 + 12

= 1

⇔ 4k − 1√
4k2 + 1

= 1

⇔ 4k − 1 =
√

4k2 + 1

2 � 4k − 1 2 = (4k − 1)2

4k − 1 = 4k − 1
4k − 1 = −(4k − 1)

2 (4k − 1)2⇔ (4k − 1)2 = 4k2 + 1

⇔ 12k2 − 8k = 0 ∴ k = 0, 2
3

� �
O A(a1, a2) B(b1, b2) a1 � b1

(1) AB h

(2) AB �OAB
� �
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(1) O AB h AB

A b2 − a2

b1 − a1

y − a2 =
b2 − a2

b1 − a1
(x − a1)

⇔ (b1 − a1)y − (b1 − a1)a2 = (b2 − a2)x − (b2 − a2)a1

⇔ − (b2 − a2)x + (b1 − a1)y − a2b1 + a1b2 = 0

h

h =
− (b2 − a2) × 0 + (b1 − a1) × 0 − a2b1 + a1b2√{−(b2 − a2)}2 + (b1 − a1)2

�
(p.110)

=
a1b2 − a2b1√

(b1 − a1)2 + (b2 − a2)2

(2) AB =
√

(b1 − a1)2 + (b2 − a2)2 �OAB = 1
2
· AB · h

� 2 (p.100)

�OAB = 1
2

√
(b1 − a1)2 + (b2 − a2)2 · a1b2 − a2b1√

(b1 − a1)2 + (b2 − a2)2

=
1
2

a1b2 − a2b1

a1 = b1 *3

3 O(0, 0) A(a1, a2) B(b1, b2)

A(a1, a2)

B(b1, b2)

x

y

O

�OAB S

S = 1
2

a1b2 − a2b1

� �
(1) O(0, 0) A(2, 1) B(−3, 2) �OAB

(2) M(1, 2) A(3, 4) B(4,−3) M O �MAB

A B A′ B′ A′ B′

�OA′B′ �MAB
� �

(1) �OAB = 1
2

2 · 2 − 1 · (−3) = 1
2

7 = 7
2 � (p.112)

*3 FTEXT B
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(2) x −1 y −2

A(3, 4)→ A′(2, 2) B(4,−3) → B′(3,−5)

�OA′B′ = 1
2

2 · (−5) − 2 · 3 = 1
2
− 16 =

8 �MAB �OA′B′ � (p.112)

�MAB = �OA′B′ = 8
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§ 2.3

2.3.1

1

A(a, b)

P(x, y)

r
(a, b) r

C

C P (x, y) 2 A

P r 2 (p.100)

AP =
√

(x − a)2 + (y − b)2

P C ⇔ AP = r

⇔
√

(x − a)2 + (y − b)2 = r · · · · · · · · · · · · · · · · · · · · · · 1©

1© 2

(x − a)2 + (y − b)2 = r2

(a, b) r (> 0)

(x − a)2 + (y − b)2 = r2

� �

(1) (3, 2) 3 (2) (−3, 1) 2 (3) (0,−2)
√

3
� �

(1) (x − 3)2 + (y − 2)2 = 9
(2) (x + 3)2 + (y − 1)2 = 4
(3) x2 + (y + 2)2 = 3
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(2,−1) 3 (x − 2)2 + (y + 1)2 = 9

(x − 2)2 + (y + 1)2 = 9 ⇔ x2 − 4x + 4 + y2 + 2y + 1 = 9

⇔ x2 + y2 − 4x + 2y − 4 = 0

x2 + y2 − 4x + 2y − 4 = 0

x2 + y2 − 4x + 2y − 4 = 0 ⇔ (x2 − 4x + 4) + (y2 + 2y + 1) − 4 = 4 + 1

⇔ (x − 2)2 + (y + 1)2 = 9

(2, 2) 1

x2 + y2 + lx + my + n = 0

x2 + y2 + lx + my + n = 0 ⇔
(
x + l

2

)2

︸�����︷︷�����︸
x

+

(
y + m

2

)2

︸������︷︷������︸
x

=
l2
4
+

m2

4
− n

l2
4
+

m2

4
− n > 0

x, y

x2 + y2 + lx + my + n = 0

l2
4
+

m2

4
− n > 0

� �

(1) x2 + y2 − 2x + 4y + 1 = 0 (2) x2 + y2 − 6y + 1 = 0

(3) x2 + y2 − 3x + 5 = 0 (4) x2 + y2 + 4x + 4y + 8 = 0
� �

(1)

(x − 1)2 + (y + 2)2 = 4

(1,−2) 2
(2)

x2 + (y + 3)2 = 8

(0,−3) 2
√

2
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(3)

(
x − 3

2

)2
+ y2 = − 11

4

(4)

(x + 2)2 + (y + 2)2 = 0

� x + 2 = 0 y + 2 = 0
(x, y) = (−2,−2)

x2 + 4x+ y2 + 4y+ 8 = 0
(−2,−2)2.3.2

� �
(1) 3 x y

(2) x = 2 A(3, 2) B(0, 3)

(3) y = x P(1, 3) Q(−2, 1)
� �

(1) 4 �

3

3

−3

−3

x

y

O

(±3,±3)

(x + 3)2 + (y + 3)2 = 9, (x + 3)2 + (y − 3)2 = 9,

(x − 3)2 + (y + 3)2 = 9, (x − 3)2 + (y − 3)2 = 9

(2) (x − 2)2 + (y − b)2 = r2

� y
b, rA (3 − 2)2 + (2 − b)2 = r2

B (0 − 2)2 + (3 − b)2 = r2

{
b2 − 4b + 5 = r2 · · · · · · · · · · · · · · · · · · · · · · 1©
b2 − 6b + 13 = r2 · · · · · · · · · · · · · · · · · · · · · · 2©

1© − 2© 2b − 8 = 0 b = 4 � 1© r2 2©
2© r2 = 5

(x − 2)2 + (y − 4)2 = 5
(3) (x − a)2 + (y − a)2 = r2

� y = x
x a y

a
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A (1 − a)2 + (3 − a)2 = r2

B (−2 − a)2 + (1 − a)2 = r2

{
2a2 − 8a + 10 = r2 · · · · · · · · · · · · · · · · · · · · · · 3©
2a2 + 2a + 5 = r2 · · · · · · · · · · · · · · · · · · · · · · 4©

3© − 4© −10a + 5 = 0 a = − 1
2 � 3© r2 4©

4© r2 =
9
2(

x + 1
2

)2
+

(
y + 1

2

)2
=

9
2

3

1
3 1

� �
(1) A(3, 0) B(0,−2) C(−2, 1) 3

(2) A(3, 1) B(4,−4) C(−1,−5) �ABC
� �

(1) x2 + y2 + lx+my+ n = 0

A
32 + 02 + l · 3 + m · 0 + n = 0

B
02 + (−2)2 + l · 0 + m · (−2) + n = 0

C
(−2)2 + 12 + l · (−2) + m · 1 + n = 0

� 2© + 2 × 3©
− 2m + n = − 4

+) −4l + 2m + 2n = −10
−4l + 3n = −14 · · · · · · · · 2©′

3 × 1© − 2©′ −13l = 13
l = −1 2© 1© m, n


3l + n = −9 · · · · · · · · 1©
− 2m + n = −4 · · · · · · · · 2©

−2l + m + n = −5 · · · · · · · · 3©
(l, m, n) = (−1,−1,−6)

x2 + y2 − x − y − 6 = 0
(2) �ABC 3 A B C

x2 + y2 + lx + my + n = 0

A
32 + 12 + l · 3 + m · 1 + n = 0

B
42 + (−4)2 + l · 4 + m · (−4) + n = 0

C
(−1)2 + (−5)2 + l · (−1) + m · (−5) + n = 0
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� 4© − 5©
3l + m + n = −10

−) 4l − 4m + n = −32
− l + 5m = 22 · · · · · · · · 4©′

5© − 6©
4l − 4m + n = −32

−) − l − 5m + n = −26
5l + m = − 6 · · · · · · · · 5©′

4©′ 5©′ (l, m) =
(−2, 4) 4© n = −8


3l + m + n = −10 · · · · · · · · 4©
4l − 4m + n = −32 · · · · · · · · 5©
−l − 5m + n = −26 · · · · · · · · 6©

(l, m, n) = (−2, 4,−8) �ABC

x2 + y2 − 2x + 4y − 8 = 0

(x − 1)2 + (y + 2)2 = 13

�ABC (1,−2)
√

13 �

(2) � (1)

O(x, y) OA = OB = OC



√
(x − 3)2 + (y − 1)2 =

√
(x − 4)2 + (y + 4)2

√
(x − 3)2 + (y − 1)2 =

√
(x + 1)2 + (y + 5)2

(x, y) = (1,−2) OA =√
22 + (−3)2 =

√
13

2.3.3

� �
C : x2 + y2 = 5

(1) l1 : x + y = 3 C

(2) l2 : x + y = 4 C
� �

(1) l1 C

{ x + y = 3 · · · · · · · · · · · · · · · · · · · · · · 1©
x2 + y2 = 5 · · · · · · · · · · · · · · · · · · · · · · 2©

1© y = 3− x
2©

x2 + (3 − x)2 = 5 ⇔ 2x2 − 6x + 9 = 5

⇔ x2 − 3x + 2 = 0
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x = 1, 2 1©
(2, 1), (1, 2) � 1© y x = 1

y = 2 x = 2 y = 1(2) l2 C

{ x + y = 4 · · · · · · · · · · · · · · · · · · · · · · 3©
x2 + y2 = 5 · · · · · · · · · · · · · · · · · · · · · · 4©

3© y = 4− x
4©

x2 + (4 − x)2 = 5 ⇔ 2x2 − 8x + 11 = 0 · · · 5©

2 5© D

D
4
= 42 − 2 · 11 = −6 < 0

5© l2 � 5©
3© 4©C

� �
C : x2 + y2 = 5 l : x + y = k k

(1) l C

k

y x 2

2

k

(2) l : x + y = k C

l : x + y = k C

l C (0, 0)

k

� �

:


x + y = k · · · · · · · 7©
x2 + y2 = 5 · · · · · · · 8© :
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: x2 + (k − x)2 = 5
(
⇔ 2x2 − 2kx + k2 − 5 = 0

)
� 7© y = k − x 8©

: D
4
= k2 − 2(k2 − 5) � 0

(
⇔ −k2 + 10 � 0

)
� ⇔ ( ) � 0

D = (2k)2 − 4 · 2 · (k2 − 5) � 0
: −√10 � k �

√
10

:
√

5 C

:
− k

√
12 + 12

= k
√

2

 � x+ y− k = 0 (0, 0)
(p.??)

:
k
√

2
�
√

5
(
⇔ k �

√
10

)

(x − p)2 + (y − q)2 = r2 ax + by + c = 0

• (x − p)2 + (y − q)2 = r2 ax + by + c = 0

• ax + by + c = 0 (x − p)2 + (y − q)2 = r2 2

D

• (p, q) ax + by + c = 0 d =
ap + bq + c√

a2 + b2

2 1 0

r
d

d = r r
d

D D > 0 D = 0 D < 0

(p, q) d d > r d = r d < r
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� �
C : x2 + y2 = 6 l : x + 2y = k 2 A B AB = 2

k

O O x +
x + 2y = k

A

B
H

x

y

O

2y = k H

OA = , AH =

OH =

OH O

OH =

= (= OH) k =

� �

:
√

6 : 1
2

AB = 1

:
√

(
√

6)2 − 12 =
√

5 : x + 2y = k

:
0 + 2 · 0 − k
√

12 + 22
=

k
√

5
� x + 2y − k = 0 (0, 0)

(p.??)
:

k√
5
=
√

5 ⇔ k = 5 k = ±5

A B AB k 2

2.3.4

C O(0, 0)
P

x

y

O
=⇒

P
x

y

O

P C

1

� �
C : x2 + y2 = 25 P(3, 4) l P(3, 4)

l

C
x

y

O
(1) l OP l

(2) l
� �

(1) OP 4 − 0
3 − 0

=
4
3

l OP
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l − 3
4

� OP × l = −1

(2) l P(3, 4) − 3
4

y − 4 = − 3
4

(x − 3) ⇔ 4y − 16 = −3x + 9

⇔ 3x + 4y = 25

(x − a)2 + (y − b)2 = r2 P(p, q) l

O(a, b) l OP OP
q − b
p − a

q − b
p − a

× l = −1 ⇔ l = − p − a
q − b

l (p, q) − p − a
q − b

y − q = − p − a
q − b

(x − p) ⇔ (q − b)(y − q) = −(p − a)(x − p)

⇔ (q − b)(y − b + b − q) = −(p − a)(x − a + a − p)

⇔ (q − b)(y − b) + (q − b)(b − q) = −(p − a)(x − a) − (p − a)(a − p)

⇔ (p − a)(x − a) + (q − b)(y − b) = (p − a)2 + (q − b)2

P C (p − a)2 + (q − b)2 = r2

l (p − a)(x − a) + (q − b)(y − b) = r2

C : (x − a)2 + (y − b)2 = r2 (p, q)

(p, q)

(a, b) l

C r

l

(p − a)(x − a) + (q − b)(y − b) = r2

C

px + qy = r2

a = b = 0 l

2 (x, y) = (p, q)

1
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� �
(1) x2 + y2 = 13 (2, 3)

(2) x2 + y2 = 13 (2,−3)

(3) (x − 1)2 + (y + 2)2 = 2 (2,−1)

(4) x2 + y2 − 2x+ 4y+ 3 = 0 (0,−1)
� �

(1) 2 · x + 3 · y = 13 ⇔ 2x + 3y = 13
(2) 2 · x + (−3) · y = 13 ⇔ 2x − 3y = 13
(3) (2 − 1)(x − 1) + (−1 + 2)(y + 2) = 2 ⇔ x + y = 1
(4) x2 + y2 − 2x + 4y + 3 = 0

(x − 1)2 + (y + 2)2 = 2 (0,−1)

(0 − 1)(x − 1) + (−1 + 2)(y + 2) = 2 ⇔ x − y = 1

C P P P

x

y

O
=⇒

P

x

y

O
C

2

� �
C: x2 + y2 = 2 P(3, 1) P C l

l m l P m

C l :

C l :

l C (p.110)

=

m = , <

l m = m =

� �

: y − 1 = m(x − 3), :

:
√

2 C
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:
m · 0 − 0 − 3m + 1√

m2 + (−1)2

= − 3m + 1
√

m2 + 1

 � (p.110)

: − 1
7
, : 1 �

m · 0 − 0 − 3m + 1√
m2 + (−1)2

=
√

2

⇔ − 3m + 1 =
√

2
√

m2 + (−1)2

2

⇔ 9m2 − 6m + 1 = 2m2 + 2

⇔ 7m2 − 6m − 1 = 0

: x + 7y − 10 = 0, : x − y − 2 = 0

2.3.5 2

2

2 2 5
2

2 r1, r2 (r1 < r2) d

2 d
r1 r2

d
r1 r2

2

2 0 1

2 d d > r1 + r2 d = r1 + r2

d
r1 r2

dr1

r2

dr1

r2

2 1 0

d < r1 + r2 d > r2 − r1 d < r2 − r1

2� �
C1 A 2 C2 B 5

(1) AB = 10 C1 C2 AB = 6

AB = 2

(2) C1 C2 AB

(3) C1 C2 AB
� �

(1) AB = 10 AB = 6 2 �

10
2 5

C1 C2

– www.ftext.org –



2.3 125

AB = 2 C1 C2

(2) AB = 7 AB = 3 �

2 2
5

(3) AB

(0 <)AB < 3
� �

8 C0 3 C1, C2

AB

O

C0

C1C2

O A B

(1) AB OA

(2) C0 C1, C2 C3

� �

(1) AB = 6 OA

OA = 8 − 3 = 5 �
B

O
8

3(2) C3 P x

AB M M PO

PM ⊥ AB �OAM �

AB

P

M

O

x
52 = 32 + OM2 ∴ OM = 4

C3 C0 PO = 8 − x

�DAM

PA2 = (PO + OM)2 +MA2

⇔ (x + 3)2 = {(8 − x) + 4}2 + 32

⇔ x2 + 6x + 9 = 144 − 24x + x2 + 9

⇔ 6x = 144 − 24x ∴ x = 8
5

2

2 2
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2

4 *4 3

2

2

2 1 0

2� �
2 C1 : (x + 1)2 + (y + 1)2 = 4 C2 : (x − 2)2 + (y − 2)2 = 1 2

C1 C2

L

L

P

l l

l L

2 L P

(1) l

(2) P

(3) L
� �

(1) 2 l �

(−1,−1)
2

2

x

y

O
x = 1, y = 1

(2) 2 A B 2 S T

�PSA �PTB

SA : TB = 2 : 1 �

A

B

P

S

T

x

y

O

AP : PB = 2 : 1 B AP

P(a, b)

( −1 + a
2

, −1 + b
2

)
= (2, 2) ⇔ (a, b) = (5, 5)

P(5, 5)
(3) L m L P

y − 5 = m(x − 5) ⇔ mx − y − 5m + 5 = 0

L B C2

*4 2 2 2 2
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1

m · 2 − 2 − 5m + 5√
m2 + 1

= 1

⇔ − 3m + 3 =
√

m2 + 1

⇔ (3m − 3)2 = m2 + 1 � 2

⇔ 4m2 − 9m + 4 = 0 ∴ m =
9 ± √17

8

2

2

2� �
2 x2 + y2 + 2x − 9 = 0 · · · · · · · · 1© x2 + y2 − 6x − 4y + 3 = 0 · · · · · · · · 2©

(1) 2

(2) 2 (1, − 4)
� �

(1) k

k(x2 + y2 + 2x − 9) + x2 + y2 − 6x − 4y + 3 = 0
· · · 3©

3© 2 1© 2©
�

3© k = −1

2x + y − 3 = 0 � k = −1 2
1(2) 3© (1, − 4)

k(1 + 16 + 2 − 9) + 1 + 16 − 6 + 16 + 3 = 0

⇔ k = −3

x2 + y2 + 6x + 2y − 15 = 0

2 1© 2© 1© 2© (x, y)
3© 3© 1© 2©
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3© k \= −1

k = −1

k = 1
k = 3

k = − 1
2

1©

2©

x

y

O

k(x2 + y2 + 2x − 9) + x2 + y2 − 6x − 4y = 0

⇔ (1 + k)x2 + (1 + k)y2 + (2k − 6)x − 4y − 9k + 3 = 0

⇔ x2 + y2 +
2k − 6
1 + k

x − 4
1 + k

y + 3 − 9k
1 + k

= 0

(p.115)

3© k
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§ 2.4

2.4.1

2 (multivariable function)

x, y f (x, y)

3 1 0

x y x, y

x, y 3x + yf
(x) (y)

x, y f (x, y)

f (x, y) = 3x + y

x, y

1

f (6, 4) = 18 + 4 = 22

6 4 22
� �

(1) g(x, y) = x2 + y2 − 10 g(1, 1), g(3,−1), g(−4, t)

(2) 1 200 x 1 100 y

s(x, y) s(x, y) x y
� �

(1) g(1, 1) = 12 + 12 − 10 = −8

g(3,−1) = 32 + (−1)2 − 10 = 0

g(−4, t) = (−4)2 + t2 − 10 = t2 + 6

(2) s(x, y) = 200x + 100y
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2

FTEXT I p.2.2 p.2.3

f (x, y)

f (x, y) = 0

2 f (x, y) = y − 2x − 1 f (x, y) = 0

y − 2x − 1 = 0

⇔ y = 2x + 1

2 1

1 2 g(x, y) = x2 + y2 − 1 g(x, y) = 0

x2 + y2 − 1 = 0

⇔ x2 + y2 = 1

(0, 0) 1
2

f (x, y)

f (x, y) = 0

2� �
2 f (x, y) (1) (3) f (x, y) = 0

xy

(1) f (x, y) = 3x + y − 2

(2) f (x, y) = −x2 + 2x + y

(3) f (x, y) = x2 + 2x + y2 − 4y
� �

(1) f (x, y) = 0 y = −3x + 2

�

2

2
3

x

y

O(2) f (x, y) = 0 y = x2 − 2x

�

2
1

−1
x

y

O(3) f (x, y) = 0

x2 + 2x + y2 − 4y = 0 ⇔ (x + 1)2 + (y − 2)2 = 5

�

−1

2

x

y
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2.4.2

P P

(locus)

2� �
2 A(−1, 4) B(3, 2) P

� �

P (x, y) AP = BP AP2 =

BP2

(x + 1)2 + (y − 4)2 = (x − 3)2 + (y − 2)2

⇔ 2x − y + 1 = 0

2x − y + 1 = 0 �

2x − y + 1 = 0

P
A

B

||

||

x

y

O

� �
2 A(1, 3) B(4,−3) 1 : 2 P

� �

AP : BP = 1 : 2 2AP = BP 4AP2 = BP2

P(x, y)

AP2 = (x − 1)2 + (y − 3)2 · · · · · · · · · · · · · · · · · · · · · · 1© � 2 (p.100)

BP2 = (x − 4)2 + (y + 3)2 · · · · · · · · · · · · · · · · · · · · · · 2©

4
{
(x − 1)2 + (y − 3)2

}
= (x − 4)2 + (y + 3)2

⇔ 4(x2 − 2x + 1) + 4(y2 − 6y + 9)
= x2 − 8x + 16 + y2 + 6y + 9

⇔ 3x2 + 3y2 − 30y + 40 − 25 = 0

⇔ x2 + y2 − 10y + 5 = 0

⇔ x2 + (y − 5)2 = 20

(0, 5) 2
√

5
�

A

B

P

P

1©

2©

1

2

x

y

O

2
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2 A B m : n P m \= n AB

m : n

(circle of Apollonius)

m = n 2 AB
� �

� �

AB 1:2 M
(

1 × 2 + 4 × 1
1 + 2

, 3 × 2 − 3 × 1
1 + 2

)
= (2, 1)

N

( 1 × 2 + 4 × (−1)
−1 + 2

,
3 × 2 − 3 × (−1)
−1 + 2

)
= (−2, 9)

MN

√
(2 + 2)2 + (1 − 9)2 =

√
80 = 4

√
5

MN
(

2 − 2
2

, 1 + 9
2

)
= (0, 5)

(0, 5) 2
√

5
�

A

B

M

N

1©

2©

1

2

x

y

O

Q (X, Y)

� �
x2 + y2 = 4 A(4, 0) Q AQ 3 : 1

P
� �

P Q (x, y) (X, Y) Q

x2 + y2 = 4

X2 + Y2 = 4 · · · · · · · · · · · · · · · · · · · · · · 1©
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P AQ 3 : 1

x = 1 × 4 + 3X
3 + 1

, y = 1 × 0 + 3Y
3 + 1

· · · · · · · · · · · · · · · · · · · · · · 2©

X = 4
3

x − 4
3

Y = 4
3

y 1©
�

(
4
3

x − 4
3

)2
+

(
4
3

y
)2
= 4

⇔ (x − 1)2 + y2 =
9
4

(1, 0) 3
2

�

A1

P

Q
3©

1©

x

y

O

?? P Q

P

Q P

P(x, y)
*5 P(1, 2)

AP : AQ = 3 : 1 2© (1, 1)

1 = 1 × 4 + 3X
3 + 1

, 2 = 1 × 0 + 3Y
3 + 1

X Y (X, Y) =
(
0, 8

3

)
x2 + y2 = 4 1©

0 +
(

8
3

)2
\= 4

(1, 2)

(1, 1) (x, y) x y

1

2� �
2 l1 : kx + y + 1 = 0 l2 : x − ky − 1 = 0 P

� �

*5
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{
kx + y + 1 = 0 · · · · · · · · · · · · · · · · · · · · · · 1©
x − ky − 1 = 0 · · · · · · · · · · · · · · · · · · · · · · 2©

1) y \= 0 2©

k = x − 1
y

(y � 0)

1©

x − 1
y
· x + y + 1 = 0

⇔ x2 − x + y2 + y = 0

⇔
(
x − 1

2

)2
+

(
y + 1

2

)2
=

1
2

2) y = 0 2© x = 1 1©
k = −1 (1, 0) l1

l2

1) 2)
( 1

2
, − 1

2

)
1√
2

(0, 0)
�

x

y

O

(
1
2
,− 1

2

)

2.4.3

3 A, B

1

1
P(x, y)

A

x

y

O

1

1
P(x, y)

B

x

y

O

A O 1 P(x, y)

B O 1 P(x, y)

A P

A P

B P

B P

(domain)

(x2 + y2 = 1) (boundary)
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� �

(1) x2 + y2 � 4

(2) x2 + y2 > 4

(3) x2 + 2x + y2 − 4y < 0
� �

(1) 4 2
x

y

O

(2)

4 2
x

y

O

(3)

(x+1)2+ (y−2)2 < 5

−1

2

x

y

O
(−1, 2)

√
5

y f (x)� �
P(x, y) P

(1) y < 2x + 3 (2) y � 2x + 3 (3) y � x2 (4) y > x2

� �

(1), (2) y = 2x+ 3 (3), (4) y = x2

(1) y = 2x + 3

x

y

O

(2) y = 2x + 3

x

y

O

– www.ftext.org –



136 2

(3) y = x2

x

y

O

(4) y = x2

x

y

O

y f (x)

P(x, y)

y < f (x)

x

y

O
P(x, y)

y � f (x)

x

y

O

P(x, y)

y > f (x)

x

y

O

P(x, y)

y � f (x)

x

y

O

� �
(1) 2

i)

 y < x + 2

y < 2x − 1
ii)

 y < x2 + 1

x + y − 3 > 0
iii)

 x2 + y2 � 5

0 � x − y + 1

(2) x2 � y � −3x + 4

(3) (x − y)(x + y − 2) > 0 (x, y)
� �

(1) (i) 2 y = x+ 2, y = 2x− 1 2

y = x + 2

y = 2x − 1

2

−1 3

5

x

y

O

(3, 5) �

 y = x + 2
y = 2x − 1

y = x + 2 y = 2x − 1

x + 2 = 2x − 1 ∴ x = 3

y = x + 2

• y = x + 2

• y = 2x − 1

(ii) y = x2 + 1 x + y − 3 = 0

(−2, 5), (1, 2) �

 y = x2 + 1
x + y − 3 = 0

x+y−3 = 0 y = x2+1

x + (x2 + 1) − 3 = 0

⇔ x2 + x − 2 = 0

⇔ (x + 2)(x − 1) = 0

x = −2, 1
y = x2 + 1

x + y − 3 > 0 y > −x + 3

y = −x + 3

y = x2 + 1

1

3

−2

5

1

2

x

y

O

• y = x2 + 1

• y = −x + 3
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(iii) x2 + y2 = 5 x − y + 1 = 0

(1, 2), (−2,−1) �

 x2 + y2 = 5
x − y + 1 = 0

x = y − 1 x2 + y2 = 5

(y − 1)2 + y2 = 5

⇔ 2y2 − 2y − 4 = 0

⇔ (y − 2)(y + 1) = 0

y = 2,−1
y = x − 1

0 � x− y+ 1 y � x+ 1

y = x + 1

1

1

2

−2

−1
x

y

O
• x2 + y2 = 5

• y = x + 1

(2) x2 � y y � −3x + 4

y = −3x + 4

y = x2

4

1
1

−4

16

x

y

O

• y = x2

• y = −3x + 4

y = x2

y = −3x + 4 �

 y = x2

y = −3x + 4

y x2 =

−3x+4 x = −4, 1

(1, 1), (−4, 16)

(3) (x − y)(x + y − 2) > 0 � 2 x − y > 0

x + y − 2 > 0

 x − y < 0

x + y − 2 < 0

 y < x

y > −x + 2

 y > x

y < −x + 2
y = x

y = −x + 2

2

1

1

x

y

O

y = x y = � 2

y = x

y = −x + 2

2

1

1

x

y

O

y = x

y = −x + 2

2

1

1

x

y

O

−x + 2

(1, 1)

FTEXT A 2 p q

p p P q Q

p ⇒ q =⇒ P � Q

p q x y p ⇒ q
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� �
(x − 1)2 + y2 � 5 x2 + (y + 2)2 � 20

� �


(x − 1)2 + y2 = 5 · · · · · · · · · · · · · · · · · · · · · · 1©
x2 + (y + 2)2 = 20 · · · · · · · · · · · · · · · · · · · · · · 2©

x = 6 − 2y 1©

(6 − 2y − 1)2 + y2 = 5

⇔ 25 − 20y + 4y2 + y2 = 5

⇔ (y − 2)2 = 0

⇔ y = 2

y = 2 x = 6 − 2y x = 2 1

2 (2, 2)

�

(2, 2)

x

y

O

(x − 1)2 + y2 � 5 x2 + (y + 2)2 � 20

�

2.4.4

2 f (x, y) 2

p.?? 2

2� �
x y 4

x � 0 , y � 0 , x + 2y � 8 , 3x + 2y � 12

(1) 4 D

(2) f (x, y) = x + y x y
� �

(1)
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x + 2y = 8
3x + 2y = 12

4

4

8

6

(2, 3)

x

y

O

(2) x + y = k · · · · · · · · 1© −1 y

k 1© D

k

�

k 1© (2, 3)

O

x + 2y = 8
3x + 2y = 12

x + y = 5

x + y = 0

1©

4

4

8

6

5

5

k

k

(2, 3)

x

y

O

f (x, y)

x = 2 y = 3 5

x = 0 y = 0 0
2 f (x, y)

D (x, y) f (x, y)

D f (x, y)

p.?? k

f (x, y)

f (x, y) 2 f (x, y) = 3

x + y = 2

x y y = −x + 2

D (x, y) f (x, y)
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f (x, y) 2

D y = −x + 2 (x, y)

f (x, y) = 2

x + 2y = 8
3x + 2y = 12

x + y = 2

4

4

8

6

2

2

(2, 3)

x

y

O

k x + y = k

D

1

2

1
*6

2� �
2

f (x, y) = x2 − 2xy + 2y2 − 2x + 4y + 7

� �

k y = k

f (x, k) = x2 − 2xk + 2k2 − 2x + 4k + 7

= x2 − 2(k + 1)x + 2k2 + 4k + 7 � x 2

= {x − (k + 1)}2 − (k + 1)2 + 2k2 + 4k + 7

= {x − (k + 1)}2 + k2 + 2k + 6

x = k + 1 k2 + 2k + 6
�

k y y2 + 2y + 6 = (y + 1)2 + 5

*6
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y = −1 (x = 0) 5 �

x x = k

f (x, y) = x2 − 2xy + 2y2 − 2x + 4y + 7

= x2 − 2(y + 1)x + 2y2 + 4y + 7

= {x − (y + 1)}2 − (y + 1)2 + 2y2 + 4y + 7

= {x − (y + 1)}2 + y2 + 2y + 6

= {x − (y + 1)}2 + (y + 1)2 + 5

5
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